ITGS-Worksheet

Answer the following questions

(Use necessary facts and figures to support your answers)

1,Some people contend that the traditional text based command based ,command driven operating system interface has some advantages over the modern graphical user interface.Speculate on what these advantages might be……
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2,Why is the selection of a platform such an important decision for an organization?
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3,A popular platform for the handheld and pocket PCs is WindowsCE.Why don’t these devices use windows 98/Me/NT/2000 like other personal computers?
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